INPUT GROUP REFERENCE PLANE
PTO GROUP MOUNTING FACE
LEFT MOUNTING BRACKET FACE
RIGHT MOUNTING BRACKET FACE
PUMP MOUNTING PLANE

NOTES:
A.PROPORTIONAL CONTROL VALVE OPERATION

1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY

'TO BATTEIiY/ POWER SUPPLY VOLTAGE
2. OPERATION TO BE PERFORMED WITH ONLY
TWIN-DISC CONTROL SYSTEM MODULES

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION

" POSITION PUSH TO ENGAGE PRIMARY CLUTCH
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION PULL TO ENGAGE SECONDARY CLUTCH

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN CENTERED POSITION AND OPEN
WHEN LEVER IS ACTUATED FROM CENTERED POSITION

2. CURRENT = 20 AMP MAX.

3. FOR WIRING SCHEMATIC REFER TO CONTROL DRAWING
D. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE

~ AND TEMPERATURE ALARM LEVELS

E. UNLESS OTHERWISE SPECIFIED FASTENER TORQUE VALUES

= AS PER S574 STANDARD.
F. ALL POINTS AVAILABLE FOR TESTING CODED {_)

SECONDARY CLUTCH(FIRST)

ACTUATING PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

6.0 —=

y

254 —= 118.7 —=

SCREWS PER ISO 898-1 AND
TORQUE PER S574 TO SERVICE
MANUAL VALUES.

14.0 DRILL THRU
8 HOLES EQUALLY SPACED
USE GRADE 8.8 PROPERTY CLASS

e - I
80.0 ]— —& A
o
S
|
0
CENTERED R
Q N ,
T N 9
o) 9 QY
£ g g
AP © <
A ;S
0
(S
o
™
©
OIL FILTER
19.0 mm CLEARANCE REQUIRED\
TO REMOVE FILTER CANISTER.
APPLY OIL TO FILTER GASKET.
I TIGHTEN FILTER AN ADDITIONAL
‘ 2/3 OF TURN AFTER FILTER
\ GASKET MAKES CONTACT
J
FLYWHEEL OUTLINE BREATHER OR ==
MUST CONFORM TO OIL FILLER HOLE
SAE J620, NO.355
SAE #1 PER SECTION A-A
SAE J617

FILTER DRAIN

M10x1.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE
1241 Nm

468.5 -

SEE NOTE "A"

13.0 —=

0.0 —

66.0

OIL INLET FROM HEAT EXCHANGER
M33x2.0 METRIC PORT

CONFORMS TO ISO 6149
TIGHTENING TORQUE 88+8 Nm

CONFORMS TO ISO 6149
REMOVE ALUMINIUM THREAD
PROTECTOR BEFORE

TIGHTENING TORQUE 20+2 Nm
OPERATING UNIT.

SECONDARY CLUTCH(FIRST) @

LUBE PRESSURE PORT
M14x1.5 METRIC PORT

PRESSURE PORT

PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

0]
PRIMARY CLUTCH(SECOND) { ‘D‘
|

l
M14x1.5 METRIC PORT |
CONFORMS TO ISO 6149 |

TIGHTENING TORQUE 20+2 Nm "[t'l_=|_lj

2o

SECONDARY CLUTCH(SECOND)
PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

PTO CLUTCH PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO I1SO 6149
TIGHTENING TORQUE 16+1.5 Nm

&

®»11.9 THRU
12 HOLES EQUALLY SPACED
USE 8.8 PROPERY CLASS QAULITY

OIL FILLER HOLE
WHEN ENGINE IS

i \ NOT RUNNING
I | o MAIN PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
CONNECT OIL PRESSURE
GAUGE LINE HERE.
TIGHTENING TORQUE 16+1.5 Nm

\ ® 17.5 DRILL THRU

4 HOLES FOR LIFTING
MARINE TRANSMISSION ONLY.

CAPSCREWS PER ISO 898-1 AND

TORQUE TO S574 OR SERVICE
MANUAL VALUES.

(®)
(©]
(©)
©

o%0
6909
080
S

)

PRIMARY CLUTCH(FIRST)
PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

PRIMARY CLUTCH(FIRST)
ACTUATING PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+£1.5 Nm

MANUAL DIRECTIONAL
CONTROL VALVE

5 mm TRAVEL FROM CENTERED
POSITION (EACH DIRECTION)
SEE NOTE 'B'

SEE NOTE "C"

_.
4|

3

A\

MAIN PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
(FOR HYDRAULIC PTO USE)
TIGHTENING TORQUE 2412 Nm

X

SEE NOTE "A"

INPUT SPEED SENSOR PORT
5/8-18UNF-2B TH'D.
TARGET WHEEL 45 TEETH

N 9) Io0)
/ S g, S
| | ®  OIL DRAIN X I > H |
\ - i 2 % o |
| : METRIC PORT : I LIl N 2280 -
| CONFORMS TO ISO 6149 11" O/ OIL GAUGE =
| TORQUE TO 20+2 Nm Y ) A I\ S _ !
=\ B »530 H.C
i 3;" i ﬂ\‘\‘ T | "—‘:
| S OIL DRAIN / _,l(‘ 9‘!-' REF. |
| a M14x1.5 METRIC PORT TORQUETO 34£3 Nm TN | ‘
i CONFORMS TO ISO 6149 — DIk i 1 | -
‘ z TIGHTENING TORQUE ek ) | |
i B 20+2 Nm | | |
LUBE PRESSURE PORT [/ Al
— / 0 M14x1.5 METRIC PORT AR ———— ] BN
o 1 pil == CONFORMS TO ISO 6149 A ——PRIMARY B=e: |
S i ‘Zﬁr TIGHTENING TORQUE 20+2 Nm \ SHAFT ¢
~ - =l
| i ?  PRIMARY CLUTCH(SECOND)—" 1
\ ©  PRESSURE PORT
2L s U SHETC e
, REQUIRED TO
ﬂﬁ REMOVE PUMP o CENTEROF TIGHTENING TORQUE 20+2 Nm
- S GRAVITY
OIL OUTLET TO q
— HEAT EXCHANGER B
M33x2.0 METRIC PORT ‘ ™
CONFORMS TO 1SO 6149 \ I
TIGHTENING TORQUE 88+8 Nm \
REMOVE ALUMINIUM THREAD OIL STRAINER
PROTECTOR BEFORE M12x1.75 THREAD, 12.0 DEEP \
CENTER OF OPERATING UNIT. 90 mm CLEARANCE REQUIRED \
GRAVITY TO REMOVE OIL STRAINER ‘\
| \
NI \ I
. ‘ o —
TEMPERATURE PORT
M20X2.5 THREAD, ¥ 32.5
12 HOLES. USE ALL (12) HOLES, '\C"é%\,x,J('?R“,CA%TTR('ﬁgg '§1T49 OIL DRAIN PLUG - A OUTPUT SPEED
ol 710 |~ 1270 6 PER SIDE FOR MOUNTING. (BEFORE HEAT EXCHANGER) M33x2.0 THREAD %Egg%ﬁ{ vE\;/E/ECE;E-E 6T8 TEETH
USE GRADE 8.8 PROPERTY CLASS TIGHTENING TORQUE 16+1.5 Nm CONFORMS TO I1SO 6149 :
-~ 2540 ——= CAPSCREWS PER ISO 898-1 TIGHTEN TORQUE 88 +8 Nm
: AND TORQUE TO Sa74 15 mm CLEARANCE REQUIRED
: TO REMOVE PLUG 4]
305.0 - 305.0 - 436.2
$200.0 H.C.
REF. DIRECTION OF OUTPUT -~ 1444 — =< 554.9 -
FLANGE ROTATION
(R.H. ENGINES DRIVING
THRU PRIMARY CLUTCH) - | NDWF-75125 | 07/28/2015
REV CHANGE NO. DATE
EQUIPMENT SHOWN: FIRST USE ASSEMBLY: 1027596 . 388.3 MATERIAL: DATE:
©245.0 ® 24.50 DRILL THRU TMGX-5146A PER 1027596 ASSEMBLY FIRST USE MODEL: MGX-5146A Elcjn ki @3 G PROJECTION S%l{g:?”zow
8 HOLES EQUALLY SPACED - GP VALVE WITH EC050 PROFILE MODULE SIMILAR T0: 1027597 R kgm HEAT TREAT- 1:4 RACINE, WI 53403 - USA
- SAE #1 HOUSING UNLESS OTHERWISE SPECIFIED DRAVN BY-
M E T R C MACHINED DIMENSIONS
- SAE 355 VULKAN VL-3211S 00 DIV YU ‘| 02 7 59 7 A
- SAE J744 127-4, 52-4 HYDRAULIC PTO AT ONMETOEI ORGSO ST [PESORPTON TR
VIEW B-B TWIN DISC, INCORPORATED A T R N G | INSTALLATION APPROVED BY. |DWG SHEET. REV:
GRANTED 1O THE US. GOVERNVENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-5146A NFC 3% A1 10F1| -
F E D C | B | A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View11
	Section View A-A
	Drawing View13


